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Directions : Read the passage given below and
answer the questions that follow.

(Questions 51-55)

Earthquakes are natural disasters and we cannot
stop them from happening. Imagine that the Earth's sur-
face is like a huge jigsaw puzzle pieces that do not quite
fit together. The scientific name for these jigsaw pieces
is tectonic plates. Sometimes the tectonic plates move
and cause earthquakes. Scientists use seismographs to
measure the movement of earth. They can give early
warnings when there is going to be an earthquake. The
strength or magnitude of an earthquake is measured using
the Richter scale of 0-10. The biggest Earthquake ever
recorded was on May 22, 1960 near Valdivia in Chile. It
recorded a Richter scale magnitude of 9.5. The second
largest was in the year 1964 at Alaska. This had a magni-
tude of 9.2.

Earthquakes can destroy buildings, people and
natural resources. People can be trapped under the fallen
building debris. Fires often start. We cannot prevent
Earthquakes from happening, but we can be prepared
for them. We can design and construct buildings that
are Earthquake-proof.

51. Inthe passage, which category of disaster does
the Earthquake fall under?

(a) Manmade (b) Natural

(c) Planned (d) Technological
SuR—(b)

TR & TR U Wi Amual (Natural Disaster)
&1 907 H A Bl

52. Identify another disaster similar to the Earth-

quake form? Note: This is not given in the pas-

sage.

(a) power blackout

(c) Cyber attack
BIR—(d)

9 R qdU (Earthquake) T TTHa MIST § S
I UbR I (Hurricane) 9l T Eﬂ?ﬁ%’rﬁ 3MIer 2l

(b) civil unrest
(d) Hurricane

53. The main purpose of passage is to :
(a) construct buildings that are earthquake proof.
(b) understand the Richter scale magnitude.
(c) protect from earthquakes.
(d) give information on earthquakes.

IR—(d)

Ia S
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QU 7Y Passage &1 & e YU & v H TGN
TS FRAT B

54. Which instrument is used as a precautionary
measure to predict earthquakes?
(a) Seismograph
(c) Theodolite
FR—(a)

(b) Sphygmomanometer
(d) Dioptra

qHU & Fde H gd H B I TFBRI UG IR =g
Tep Yeb ATl A= b1 TANT b ST ® Ry RevAra

e

55. '"People can be trapped under the fallen building

debris"'.
Find the meaning of debris in the above sentence.
(a) purity (b) Junk
(c) possessions (d) sense
SIR—(b)

& 1g a1 # 'Debris' (FerdT, TG, HAT) A ALY
2 'Junk' (FR7)|

56. It's time to wash the players uniforms.
(Choose the correct punctuation from the options
given below.)
(a) players"
(c) player"s
JR—(d)

(b) player's
(d) players'

fau v g1 | plural noun 'players' &1 T Sfa Bl
39 UHR & Plural Nouns % Noun & 3id # (=i play-
ers') Apostrophe (') &1 TR f&1 S g1 players'
uniforms ¥ AT § - 'things or uniforms that belongs
to the players'. 31dT: fa®med (d) T TR R

57. My favorite football team is the colts but Ronnie
thinks the bears are better.

(Choose the correct punctuation from the options

58. "Sarahis the fastest runner in the race."’

The word fastest means Sarah has come ____in
therace.
(Pick the right word that best fits in the bracket.)
(a) Second (b) First
(c) Third (d) Fourth

SuR—(b)

I & R<h I # First (4eH) &1 0011 $-A1 3fad
SRl
59. Rita wanted to play with her friends yet the idea

of completing her homework seemed better.
(Choose the correct punctuation from the options

given below.)

(a) friends; (b) friends,

(c) friends: (d) friends.
TR—(a)

g favm™ R&ifed (punctuated) ¥res fddeq (a) 'friends;'
B

60. The noise came from
(Pick the right that means 'the other end")

the river.

(a) above (b) below
(c) across (d) inside
BIR—(¢)

Rh I # Preposition 'across' (3% R 9~ 'the other
end") &1 TN S B

61. Which of these options need something more to
make a complete sentence?
(a) My dad goes to office every day.
(b) The vegetable vendor who makes a living.
(c) My aunt lives in Hyderabad.
(d) The movie was about dinosaurs.

SR—(b)

T & AR fadwed (b) # f&am T ar o1u 3 A
YR &l 37 TS e IR Bl

given below.)
(a) My, Colts, bears  (b) My, colts, Bears 62. We started six the
(c) my, colts, Bears  (d) My, Colts, Bears morning.
(Pick the correct set of options that best fit in the
FIR—(d)
blanks)
Punctuation & ¥ & T&d a19 I gl e 7SN (a) at, in (b) in, at
JUIHTE & IS e A Y BN A I H TIH T () at, on (d) in, on
Noun ¥ 3735 quiHTel & 93 JI&R & YO B ol TTR—(a)
@ S (10) TEDIE



< wI W Preposition at, in & TIRT HRAT 3o
2l

63. Snakes are reptiles. They do not drink milk.

(Combine both the above sentences to form a

meaningful statement.)

(a) Snakes are reptiles, but they cannot actually

drink milk.

(b) Snakes are reptiles since they drink milk.

(c) Snakes are reptiles, although drink milk.

(d) Snakes are reptiles, so they donot drink milk.
SuR—(d)
IYh QM simple sentences ® combine FRT U
fa®ed (d) & v A va syl arer ura g -

Snakes are reptiles, so they do not drink milk.

67. You eat more vegetables for good health.
(a) Should (b) Might
(c) May (d) would

FR—(a)

R<p Y o ggrre a1 'should' & T SRE 2

'Should' is most commonly used to make recommen-

dations or give advice.

68. Thekindergarteners were taken to the park.

They run across the lawns and laugh.
(a) could (b) must
(c) would (d) have to

FAX—(c)

Rp e & wgras fohar 'would' & 1T SRIG Bl

64. When the lava of a volcano touches the ground,
it can cause great damege and loss.

Which underlined word in the sentence is spelled

incorrectly?

(a) lava (b) touches

(c) damege (d) loss
SIR—(¢)

TG 19 ¥ Ndifdd ekl | 9 fdden (o) # &
Mg ’Damege’EbD[ EIF?#IST%J@ 2l 39 I 9o+ 'Dam-
age' (&1fd) gl

Directions : Pick the correct option that best fits the
blank for questions 65 to 69:

69. Oh dear! Itis quarter pasttwo. We __ be
late for the game.
(a) Must (b) Have to
(c) May (d) Would

SIR—(¢)

Reh %M # Auxiliary Verb 'may' &1 T 3 2

70. SOARand mean opposites.
(a) elevate (b) float
(c) mount (d) land
JR—(d)

¥ 'Soar' (F1, 91, If& B, 98 i BHI) I

65. The child has been missing yesterday. U T 'Land' (SAR) B
(a) since (b) from 71.  What s the antonym of'ATHLETIC?'
(c) on (d) at () frail (b) muscular
B —
@ (c) energetic (d) intelligent
b 2 # since @1 WAFT S gl TTR—(a)
66. you lend me a book please? ¥ 'ATHLETIC' (F91qd, §-T5C, 90d) &1 faeidreid
(a) Must (b) Could 91 Frail' (Fdd, FaeiR, ARpEM) 2l
(c) Would (d) Have to
: : ' 2
FTR—(b) 72.  Which word is an antonym for 'ANNOYED?

R 2 # could &1 TR &= 3fard &1l Could &1
v s e &g fsn i 81 98 o arad <
9 could 1 TR fam T B

Could you help me, please?

Could I have a lift?

(a) disturbed
(c) encouraged
SR—(b)

(b) amused
(d) worried

7 'Annoyed' (RTS) &I facimiede oeg 'Amused’
(w1, ) Bl

Ia S

(11

TR



73. What is the correct way to write the word that
means 'more than one family'?

(b) familys

(d) familes

(a) families
(c) familyes
FIR—(a)

¥eg 'Family' @I Plural Form 'Families' 2l

74. My dog, Rocky, is a truly remarkable animal.

In this sentence, what does remarkable mean?

(a) regular (b) amazing
(c) conventional (d) normal
SuR—(b)

31 'Remarkable' (3719d, 3raT, faaemr, fafdre, S,
SRR FT QAT 95 'Amazing' (Y, faaary,
To9) =l

75. Palmistry is the art of foretelling the future events
by studying the palm of a person.

The prefix fore- in the word foretelling means:

(a) atlast (b) many
(c) truth (d) ahead of
SuR—(d)

I H TYh UK 'foretelling' # Prefix 'fore' P AT 2-
‘ahead of I ‘| Tl

IV =

frafofea = @1 tgar fAv Y oAl & SWR I—

Ui qer gaRTg WiE | uig & Ui gF O @1 gied
Fgay 3R GARTE & Al 77 DRT Feag| uieal # JRftex
T DIRAT # AT g TS Al RS wrid 7 ward) 9,
T2 gA g ugRy &1 o1l uiedi 3 Fad giE i JR a8y
I G B A b aRER WY 4 ursdl Bl S | A B
& 3R Wl @1 el B TR 3 gisdl b T
f g fornl uieal 7 =9 9 37U IRER U & forw gg
IR B Fregg feal <1 vell & 9 geed $ AeE A
3BRE fadl a® vl g gonll 39 g ' HEWRA' F
M A ST S 2

76. Uied fdam WS A?

(@) (b) U=
(¢) IX (d) wrd
IR—(b)

uisq gig 918 Al A |/ uig & g3 Al

77. disal % faa1 &1 o= A oan?

(a) gaRTE (b) gwfts?
(c) uigH (d) wig
IR—(d)

gisal & fd &t 9 ‘uig” ol

78. AT B WA T T DA A1?

(2) g (b) =gl
(c) FAftew (d) uig
JFIR—(a)

EARTSS 1 I I1 T AL o1l a8 |1 9zl (DRa)
Y e <7 21|

79. PRl AR Uisdl B G g Fgi U g A1?

(a) Si¥Tel A (b) Twer= & A A
(c) BRI ¥ (d) F=HRa §
FR—(b)

DIRAl 3R Uiedl & 919 Jg§ PO b Ha W gl ol

80. 9 =Y P SUYTH WG TAST—

(a) eI ORIERIE
(c) HEYR (d) 9urgg
FAX—(¢)

TR T SuGh e 3 HETWIRA |

81. T W &1 MER I AT IW@ifda & fadm o
TaTsul

(a) Sgoord (b) IRTHHA
(c) 3qHTT (d) PR
FIR—(d)

T gt B ISR BT IMRT, a1 § IR e Bl
e fARTex gl

82. ‘sife’ o1 fadm v w grm?

(a) 9T (b) @H
(c) 3 (d) 3mEY
FAX—(c)

‘e et @1 fael “3fa” gl

Ia S
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83. ‘g @1 dfc A’ YEER &1 f FAm B2
(a) &N ST
(b) fears =1 <
(¢) X S
(d) sga fe=t & 915 fars <=
SIR—(d)

‘58 @1 9] B JRIaN &1 3ref 2—agd Al & 9|
g <l

84. ¥ 3o fou <E R, o R < F FB bren B

Gifda qgraR @1 3f T R?

(2) PO TSTS B (b) ST WIS B

(c) fars s (d) =T PR
SIR—(a)

A go fom & R, a1 ® I A T8 Fen 2 59
T H ‘T H PO Il &' TR FI 31 - FO TS
Sl

85. NHid ybIs w1 Xgl Bl X"ifba ared | fhar &1 9
ESIRY

(a) STHIH (b) TFH
(c) IRvmIH (COREERED
SR—(b)

A Thrs W1 Ve B AR § ghas fhar’ gl o
fparatl &1 3N wal IR A8 9fed HH W UsAT g, 9
FHHD fhard wgerrdl §1 g bl § &H @1 g
ITIF BT B SN, Wi Ul @1 Vel B, A |

(c) Ra®w
FAR—(c¢)
ST $9R B G 8, S ' 3MRGd’ Ped Bl 31d: 3TN
Pl HFAT P FoTT U g’ Rad’ I
88. HAR URH™ &1 ufkum i@l F A ol
I@ifed 3791 b T T v iUl

(d) sm=IoT

(a) A (b) T
(c) u3& (d) wd=
FAX—(c¢)

‘Sl b qEA b oY T e U’ Bl gl 31
TR V@i are & foly Sug<h ores ‘ Uel’ gl

89. ‘s P AR 7 Y’ B TP ¥ Ia15UI

(a) FABR (b) THR
(c) PR (d) FRIaR
IR—(d)

R BIs 3MPR 7 81° S oIV Te vreg  FARTHR B
2l

90. ‘fora® Wy sfig | 1 & o va v garsul

(a) YfEfis (b) dRIOS
(c) i (d) snRd®
JFIR—(a)

R T SR A B’ & g ve w2 WRehie

o (M) @1 3R B (TDIS) TR TS Vel B

86. T el A et 31 J@ifda H1 PR ol

(a) BRI (b) HH
(ORSRISE (d) wdw
FAX—(c)

= & O wu @ T 9vg Bl SR I 9 37T BT
I ST 98 3MUTEH HRE& Fedidl gl $961 fanfke frg
]’ R T T RHTerd & e srerma @ Rerfa
TR FRaT Bl 31: e BRG

91. frAfefm o 3§ R w=m= & gfid ¥ fog Swgw
e gaTSUl

(a) AR (b) 3r=a=n
(c) rerar (d)
SR—(b)

I aRoTms Sl 3TTeieT 2 STl 2es &1 T fdan
ST B 31 IR a1 H ST’ ¥e] Jugeh Il

92. frAfefm arw # R w=m= & gfid ¥ fog Sugw
NEACE Y]

87. fa X #fex Wi R 9% STAR @) 9= R (a) sr=gen (b) =g
J@ifda 3w % g & e ol (¢ fog (d) wd
(a) T (b) R FIR—(b&e)
7 S (13) TERIE



T TRl Bl fARIeEee ST Terg dEd § Sl /1 H,
TR P TR HROT 6w H T@IR A F N FRA
Bl SRR, TRy, foheg, Afed, oI 3wt wafa B
BEIGRUI-AE AT AR/ TR R~/ i <ared el ol &ra:
39 U B IR faFHe (b) T (c) Bl

93. frAfefm arw R w=m= & gfid & fog Sugw

Reh I TR qaH SUYTh oI ‘b < &Il

94, FmfoiRea § & dF-w1 a1 aid o gfe & W B
(a) ITRE ¥ @ AT MG T A B
(b) el # e™d T %I B
(c) HATATSH &l IISIR A A AT
(d) P! ST st @1 g <Y
SAR—(b)

el # o ge Yord & e 31l 9 gfte | Rl
2l Ree (a) ¥ 'S A’ iR ge R ST Q B
& faRor wgeh Bl fawea () & fvar e’ & <o
WA B SRR B ARy Safe e (d) H

forg wg<h Bl

95, fmfaR arel 3 Ao vl il sl

(a) T<TT S TS T

(b) I 98 HYR T &

(c) P17 U &4 H1 Iy |

(d) FR-IR Wt I I/ 7T 3MAF HA
FR—(d)
fawey (d) ' dR-R BN I I I 1S I T H
fora-faRiyor ' fR-R " 1 warT gan ® g are Fieqe
Bl 31T 9 UL B SR ey (d) BT ARyl

fFrafofa = @1 tgar Ay U geAl & SWR I—

HETHA YRS & =1 1879 $. H SIFRT A H2RT S
qrell TH F fHIR TG AHS H H ga a1l B
P01 Afch TRART & 3T WA SiF™T & 91el HY B
U 3T Aoladl & &l FRATR ' 7% URig wRIbre
B A w1 WRkh Hfadi A wdess H 7F I B R S
2 & JRem Sl oy 9 IRy I8 $1 B 79k Bfd 719
Pl 3] A T A 5P URI H POT Pl A1 SATeA131 Bl
ofia oot frerer
96. RSB YIS Sl B ST Byl gonl &1?

(a) 3MRTH (b) wRTH
(c) fooeh # (d) wTar #
JR—(d)

HEIHA I S P ST Sba] A9 I H gal ol

97. Sl ST 69 g3 AT?

(@) 1979 (b) 1879
(©) 1779 (d) 1867
IR—(b)

RSN H 5 1879 E. | gar o1l
98. 3o fHua whe ¥ ug ford?

(a) X9 @I (b) e B
(©) FoT H (d) 1B
FAX—(¢)

HEIH(A YR Sl "HwT 4Rk’ & ug fordl
99. 3% URIE AEIHI BT T AW §?

(a) AR (b) FERIR
(©) R (d) JErR
FAR—(¢)

ARSI YIETH S &b ARSI & 1M ' JRAFR”
100. ST P01 % w1 wu &1 aui b §?

(a) faw] g &1 (b) YT Y BT
(c) dTcl U Bl (d) =RATR B B
FAX—(¢)

HETHA YRETH Sl 1 HT & ' Il w4 $1' g fa 2l

Ia S

(14)
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